:;:',JBrU
bael Joro
s TR S oWl 5l )F o eB o
Y o ylou &> 80 e
2 a Iy 629k £ 69l 25«
A% Twwo
U RVYA WAL

[ I st WY omeiT

wiloyT slog 5 (0908 (39037
o) | pasio g g (0l (9% pole

s silbols 5 Lo :;Jbﬂé fU 9 fls
Aids YO ¢ o1 655wl Lde Voo dlaw Slaes

195 Bl k0 g YT &l OIS £33 i g 58 (o0l P (2 ol (itlo3T B0 T g0 3903 (Siliet g gie

255 s e ol b o kot 51 oo Slass Sloxiel slga s,
4B VA Yo \ Yo D \
g Y- - Ys Yo <= 0L Y
s> \Y va o Yo Yl Gjlae 9 Kin ¥
ads Y. \e. vs Yo sl 0l f




Y dxino Lf""’)lé
[‘“"é"‘* 1A sslgiiby C“"°] Sandl A a5 5 s Kol o3 Sl (ST ¢ uib (slooly e — )

”

e |

grE—— 005 Siolem ¢85 oo« plaings ¢ Soo5 (A

h’ublhﬁ . Ol 8 5 e yals Fewly (ol pi5 ( Soo5 (Y
T e o o
£ el 005 les wliy 5 o285 93 (¥

@z
\'\H_._»

J OO S s (p3ls Gl (aleidgs (235 55 (F
el ool e ol o Jlie SSloS™ 5 o3y iz ine ¥
(3> i) €035 ety 28B) ((lgoisel 5] dlans :0393) (ogl :p28) (o3l 1)) g e 1,1S31) (oIS s0ka)
ez (F s (¥ 9o (¥ < O

Sl ol by w13l condy jaseitio (gloosly (sline 5 bl 5) 590 az o =Y

(34.50) 995y S Amogeo 58 o5 (lulids (9> £35S 3 oS 50 4y &> 5y (A
(ogil) (ol 5l Adipail w0 cdie 5 pad el @25 Jos S (o
() Lot S sl s oatll (S ool i (2
(239) &5 5yt Sldmm jy—Sws &S Ty 9 97 S iz S (0
ez (F das (Y 5o (¥ S 00

ol w10l 03lg phaS” (Dl 5 o)l o -F
Qo aiy b sl g5 g 50 S 4 o5 el T B2l 095 03 (ye Sl Jloz 5 s 3l 095 Site 4 0l oo gl 97 o
8y (s 4s 903, 5 Lol 3l ol Syl 10 az sl () 40 5 15 PMo 5 o 1S a5 il 5 lol] Jiie ST Jo 40 g aiS glog |,
€l 4225 Sguate
¢ (f o (¥ Ll 3l (¥ ogate ()
5,05 3929 (Ol Lale any 3 plus” 0 -0
Sles Lai> j0 a5 el )] Sl 5 J3LE 5 8,138 Jogeo |, CBlos g (ciwgd <o 5 S Jbo 0 a5 Cangl liwgs yawt) ()
A39S5 Lle plozal 5
IS gy g i g spes ) ool AT s ity g 00,5 aite 01 53 Clgo sk 5 8, (Ll Slalie cnl 5 4 ol (Y
g wlg pgans oS
Fbye 5 ale T 5l g col ;a0 oy o Lo (as 1 5 055 abose 0k b L yo paB 0 45 ansS Lede 5 (Y
ol oM S g Canis
e 4 Sl ol M g0 4 ST a5 glas b wielon g i Al § celay Obyl g celio Olol I (F
ool slizel sl bl 4y ol 93 88,85 jalls 4 ST 5 cenl gl O

Sagd 0 JolS a3 plaS by 55 bl JI slal> -#

ool 58 65y 59 By 40 ¢ 53 59/ 1B eunenn R VPP I I SRR P F e
oyl 4y 28, sl (5, LaiaseS [ eeennn 5 asugl Cdide of 5 b
sl e (Y ol Jol d ()

wl ol I (F ol T s (¥



¥ i .
e

Sl Cans s Lola iy 357 alaS™ 50 €os3lids o)) eplodss po o siamne IS ccislglallcpllad 805 ,gTo0y cus 4 -V
s o bl angans e Grrase (e dazme ()
swxl JT Pl ol dogaane o adlS Lacly o o o e pall 56 (Y
Saxl T Pl (G 00 50 ritozms o e dae (F
5] 520 (S o (RIS Laely e ho e 58 (F

Togd o0 Bl Loles loay| )T plaS papm i iteas a3 B o] 5l o, ol 45/ payas a2am g0 de (IS 0,35 o atim 9P Coy yo —A

A8 pleal el ol (F o bl el pleal (el ol (O
IS5 el pleal b ol (F ol cpleal e puliz (¥

el Cesys Loles o ot s Sl dan Jlio (slaa),] -4
(o il ) o ala S ;255 Lo ] 6, lad S o o ;S0 o g pli A, (0
(Larteis (i) $3,155 a5 (5o ol il 457 (e pDLs sy 4 LS ol g STV
(WS Wolrocglul) oS 5ylo lga 51 L a1, Ly o ol oz o) e HI5 y0 oade g wi (Y
Gebiolel o o Jelai ) ally p demsy 097 GB35 595 2ot o o s Lo ay (lr 0350 4 (F

39 s0 030 Aiy35 Al 10 sl 5y €ansliS 0l ¢jlone clolracsghas® (slaayl)T-1 ¢

oS bl s 3 IS Ly 5 o gm oy S Ly

B 55l a5 50 slr ax Sl Fog> plaS Cabs gy 5l il (2

W36 g s 5l gz sl aSly Sl g 5l oy (Bl (2

plosls oly 5 a5 conl (gl s 54l Lo e S ooz BL) 5o a3ué gz (o

o vl iz (F S o Al (Y ol o o (Y o wdle gz
....... Sy el a3, 54 pleeh &1 ol dan -1

cuils 1y claall Lag> lgi g Sy T il cosls Jae o Ky i A5 S LL ()

ad 9z plity sas ST 4y (5 Jo 3] C8,5 ooy eme Ll ) 55 g T (Y

(S 4z Ol po p OSBCLS (55-25 ) S 4z (B i (s o p G5 S (F

Cansl 3 80l oo Lo Ladlo 4§ oyt ket il ot aly S es mom an (F
Jie g0 oyl a4y dpan gline (285000 g Cymiins (GLime (5010 Cawd 1L a5 s 0425 (slojlg eennn 4555 12 ban 5 4o 0-1Y

Sl 0

oS e ol Ly, = Omth A 0ed g jeees Cowly S 4l 5 ()

7255 sl ozl 63,8 Cenlior o S 505 3l Ko Cagy 5 Sl 2o Shadkr (¥

S g 03,55 gl 5l Ltlos aibe Lo v Say g, os (T

O)Bgu G (o (0 &S Cennii oyl Gl dw (g,0l Gl8 0,0 S Sa 5 (F



Gw)lé

S 48,5 & )0 (Soine Ly 8 4y o0 5 o) Ay )5 &) oo Jod B> ey pliS oY

Sl a4 g foudas ax a5 0L sy 4o O 4z g Ao dz 4 S A oSS pg o (Y
o O3 Gl 3l Gligd ey Sl S O CessSs w5 gl @2 iy 3 IS 9 Sl (F
sl o os w oy sl a S las Sl g o clge o, il o5 oy Lo (F

Sl wgliie lyl polus b condi aseio (idey ;0 Job jlad g (ased «ug plas 0\ F

95,5 Hlaii 1y o5 51190 Cawss 5l ooy 0,5 Gle 9o g el e o 00 @uidS ()
Foo g4 09> ol 40 o5 Ll loles 45" oy 5 2L peidy 05— (7
e Ol Rl 55 L 5 S s Wie 55 2 (D & I il g2 plowns (¥
B elo o S sl i rie o b 2lS ealy s o ot S5 (F

Sl 4, |54y € ndP 2l i gazme 40 p) Oyl 010

€3S g3l ol Bl 250 e jb g Ol Bl a0 5 5159 sy Ol 250 007 Ll 5o gl

s (F Sz (Y aw (Y 99 ()
....... 4 09 o0 030 € Jad + diwe + Joaio + Sg» Sl bl don 0-1F
Q_i;l_x_;r:))‘—l@_:_‘zsl)_no))‘—l Cblas oy o aw ;0 oz Llads ()
Fin o b5 o, Ko iy iy ol arasT o Se (Y
LS ez |y G akeS (5 S S8 ol 355 (sl 1 o e et (¥
Al )lsE e ) S S e Oz 50 ol liile (F

S ls giline caunlis 55 slocay plas i €lalosy don (aii all ls, o7 5l oy [eounSidy ded 0 piamyd 67 Sge B> SV

2 8 Oloomy 9 oSy | 9ge Lo (9 b 4y 557 5T ol ol (Ll

Jlog see @35 Shgal &5 (Sos Cuns Jooy LSl plss Ly 3923 s 5 (0
s 09 4z 0 5 calld s, iy pwdiloasy o il

A8 oo by pie 993 30y s o ez 4 28y (e 0505, ol (o

Wl s (F z oo ol (¥ s ()

s oline B @lagl )3 a8 3505 9 lod 0355 P ES b 24 5 e Lea- 1A

L ebgols 4 Sl oz ol & 55 laolSin o g 8T el 4o & ()
CowglS 55 Lis gmad Lo dlinw &5, 5 &l sz Sl Sis b izl 4y 5 (Y
oo e 2U Ol g o3 5l ejeS S S LS 0S (659) 53— o e (T
WlaziS T wloays ol slizl s az gl e A eyt 9 S e oy o (F

831 s €unng,] wiless Corio ST (411 Canngl 51 oty dad g sy 5 Gleid® Sa b 435 plaS pgpie—14

G 0y oy 5 St pyee 51 Sl 0 Slad ylorez JS 525 9 50 ()
Sy LSy 058 Jo OV 3 Sl 00 ﬁ,f gm0 S éle Ol 5o Jo (Y
S Wy DOlso [ 8 4 S Gbe Goybjl oS o eSS LG (Y

s 3y plals as j0 El = j5 Ot 09y oyt )y g (F



O dxio .
s“‘)b

?é)b @‘Pﬁgﬁ}%f‘ﬁh«%& ob.mjé)" 4.3):26' M)“&S‘é)slc““‘ Cqb)") J.éé GL:M,O)LA“.IA» Cﬁﬁf}&.&.o—"’

Ol > SLE 055 5l 1 ge oL LS cwload ) (S5 0 e O
Sily o )l s 9 55 &S s sl gl a Sl Joan (¥
39 ol 45 Camgo o 51 e e ol o a8 Ll e (¥
3l 4y el @asy Gl gloz| Iy i slaS )y pays 0051 oo 4y o (F

8305 a3 Sl il by S plS 50 —Y )

@l LS g e o550 ple e s 5wl Glian 5 el )2 0 O
2 Ok 305 5 pez p i b @ 23K 9 3l 05 95 @ sl Jo 4 (F
Sl K50 sl ol g K00 sl ol Gl 0 glss jaS ogn Jol, La (¥
Sydse S5ud slr bS5 ez L pyalls Sl Gyt ol S Sos b aS (i b (F

0,05 3929 Cans IS 10 «l3T b 5500 97 Wl Caasd 5 y9» glpan penae-YY

s 0,5 ol oo 5 9w by o0 lg,m am ol3T Jo &ole—= 51 ()

ol e S s 5] 5555 i 55 508 ol 3 5l s (V

Iy gy adl S 5 aio, 5l Lapls wfé,,me)b.;dolﬂ.\a}&)k_c}l(\”

ez Oz 5 ol 45 Cews was 5 s 097 ol BB 51 ST 4 (F
....... Fals seghe Culd Slolden b opj cn-YY

€ plols 53 Blie 2y (392 Bl L] S o (A5 g8 puS (oS Bike )

TLns iy LS ) e ol Sz e st dseon ol 4 5 O
wlos S ol L as o colie o wloa, 5 Ul sie glad ol (Y
325 ole 5 o) Gl 4 Bae o G By )3 45 Sy (oS Al (V
3,5 Wb Hdm ol ol sl 5 5l Sl b bl 4 gie Haw o ol SO (F

sl as olayol,y 00, S0 fygiS xwﬁpb}yidﬁ(\
G Ol e aas sl 8LS Gs Ol a1 55 05l 4y plos ;S 23 (Y
o G g ko 5 095 By 5l e Cew it o a5l KB edso (7
O Sl 5l s, S ) 055 O S s eyt Gledis p (F

Sl ﬁ.} ua’r.&.e Ca..u).b 4.2.;}? ﬁL\S PL:.;—YO

(3929 Big) ;L5 g |5 0 dlo ol gl e s ol S an LS e ()
Ggal i wSe p) ol (poy5 lolon 5 aS (6,905 0 Ci g ol 5 pawsl i a5 K5 b (¥
(Jis g sae Bla5) o) poeel dw g el s Cawd 5h S lales 4wl aS colgs caa (¥

(6}5‘.“)&_3)0304@.)5_)‘;1‘)0)_.) s_i_;.w)_‘s)_wg)l_.aswé).)s_i;.w(f



% dxio

== o)
ys Po ,G,Mm,] ((FF-Y7) Aan AN A ad) B G 9 ) cio m
o N ot .t .
( i 1 r0gala ¥ Gl g O galay (Al g glun Ja Y8

whais Olaj LG

19395 dilgsu il caiils cod a5 SluS 5 walET a5 LS LT ()

e ply aiils gos 45 SLuS 5 ails o a5 LS LT (Y

195,15 0925 olETL of 8l caslo o a5 SLuS 83lusl & LT (Y
190590 o0 loz 0l cod a5 LS 5l ausls o a5 BT LT (F
1 Goadly QIS agia U381 5 Caa a5 G pch Gl 500 Ganid Banl g 41 (bl (IS vy
lolw ,8 1):_§> LS LT L g 0,8 Egane (48,5 5l g pols 0050 (gl 1y oyl paaly dlll ey gy (SIS il o0 o ()
13,5 36 oyl ol yods 3 s 1) OS5 ol b 0aisS las g jgl 00%e | Sl jusly Wiglas g wisg il il ol po ye (Y
'oL.M,Js:j> al, Ol LT g0,S Jloyl ils Jdo g yold 030 sl 1y sl diglas g divg ol ‘S\L pS e (¥
oS J)by a1y LS T ol ot § 0,8 Cigae oaidd i g 0aias 0050 |y ()l el Wiglas ey disgs ol 4l 0340 (F
lBaith ¢y gy GilS st ATY) o3 gl Likiaf 48] Lga 20 danas B30 Woay _YA
1592 003l (90 (Jg maoge;l g ools dlpiion olfiws cpl jeend sl lesliwgs 5l (S as 1, akise slael, ()
15,105 (gloasld K1 Lol aslonge;l caslos S slgian olfiws ol yuand gly lesliwgs a5 1) alises slo yos, (¥
Lo (gloaglh Lol ouiS o cylomial eogs 0l olgitias Lo as il ol e (sl cybodbiss 31 Sy &5 |, 3o (laol, (¥
g 0l y90s Jg 020,5 lial 1y Ly Lo aS™ ol sl olKiws ol puoad glps 1) (S350 sla b, Glebiwgs 5 (S5 (F
l gl Aol dny 1503 Y i gl Ayl e sl Aufle (B G5l cn $30IIn v4
ligds (ylasdey «ody 53058 ol 31 s b aiiyadl o bl bl & g IS glazl o 45 a5l oLbls (O
138,55 Hlowiy g ol Al bl 4 b aisS oo ;S8 )l sloxl s 4y 095 )15 £4,50 50 a5 s by J8le (Y
g glowy Jlao oy (ol Gl b b awiowil oo lile S cdle ) IS 84,0 j0 a5 atiin JluS cads o laies 5 (7
W33,55 lorty Gloy (595 <l 3l B S (o0 1SE 393 joel Cule ) (LIS £9,8 plRin oS it LS (laies 2 (F
rallalis 1) B 5 cldl AN e S 5 cpilly 28T ¢ Eakill iy v,
o5 G ML) 505950 5 pod 590 SLILS 5l 5 0559 plotal (o 4 @il (e Conl ael ()
oS Dole alalls 1) 053,00 5wz (599 SBLE 5l g 025 268 (o @ wils (po IS 6l (F
o5 Solee ML) 053,95 9 s> 5599 SBLS Sl g @5 @2 g8 oo 4 ilsia e Lt (F
05 2y Ll 1) 0,50 ,9 0 5 pod j99 SBLE 55 025 a2 g5 (o 4 &S @l oo o A I (F
O 4y i (53 S5 GTAN U3 8 4 G e Gl Lm _py
13,8 Calan 1y a5 se T L el ey el 00,5 36 Takad 1) )13 wiglas oS auilay el ol sl ()
105 oo |y 050 T Al & el B 3,5 361, 513 23 S (s o ol s (7

15,5 oage o 1) poy0 Colad ol b ouuds soliw 8 wiglas il 5l auo 5 yeas 1,8 a5 ol o8 (il palgs (V

losS colan T L1 a0 e wilgin bleslin 8 45 54y 05,5 J56 (slisS a1y 1,8 50,90 a5 ol o ,oles ol (F



& ok

raligad gall 0 U G AY) BB Al oSl apad B T gali 43501 49,508 Gy _py
asy bl jo wio S bz (%00 45 (Jb 0 08 (0 0y Lol ot 0 00 b 5 e 2o Sl S szen Lo ()
s )3 ealyzu
15,5 melyzs 0y o o Lo a8 Wi, laS 500 45 @S oo o, lalr od 4 o b o Sl sla S asiles Lo (Y
oS (o0 g g aby 0, aalgss wdy ol ;0 W0 S JUS po 50 a8 plalSe den o ol o S ez Lo (F
15" el sy ol 10 o oS a8 (e (500 o plo 5o oS g0 0 o2 b (b 2 50 5 e bl slo IS o Lo (F
el e py
LS o oL o0 o 45 B ol 00iiS glind yLi Lo 1ol (add G sl 6 85 YT e (3
Loyl 5o oolkin] JSUas 5 Lo on (3,5 1 reliabol a8l g1 ¢ Tl G 5 Uiy 3800 5Y (¥
ilos S atS 1) of Slalinsl 5| Sy a5 cel oyl 10CRISI sladl Sal G s (y
o 03,55 S |y ] 39T o qopids 5 p0 Lo a5 |, ol Ll 2I0Y) (i Snl 488 o8 ol 51 (530 Ut Ll 5
iaall s _vF
o bl &) 1S o paslp 45 amo o Lo 4y tans wiglas ol 11 S8 G (ousth ) cilaall 2 Lidaad 8 (3
oS ()5Sl
Lo g i aloyl 5w Ll Lo sl g oyt 2Msle Slansd 5 Ul A Tyl 1y O g 58 Saall (v
logd lalue
5 oS s 3 5 s (e pos Ll 338 LT (e Baa 5 o8 Sl 8 a2y iaxs by (v
Il Wglaz & ,08 glaailias
3 yols g 00 ogiis 05, ale [ SoS) )0 S Z!e—“yji e gl la S Bl g;ﬂ ;:‘3 ea Y (F
logdsad L 3
Il 51 s Jind § yaly 15 ) 038 o g M) Y e v
o505 plle ded Lo [ (p0gs 35 abs 4y 0, cpl sl g ()
o5 LISl Bl 4 Gery | @38 Dlae Ghpitw j3 5 9 (Y
Lol 2 J il 050 11 el il Joms 2 1y s (F
el o)lw &pas cpl il ksl g (Sa g geas 5> (F
«lte Gl Ga ud dalay &dEE Alley 1éyanl) o ggda H Y 4
e AY & 1Y) alall Axdls &S5 mabaall &) (v 1oAY 4 &5 13 gabial) e @il alall & (3
1oAY aani ¥ salie (e Dad Ll &8l aladl () (F los AY) 4 @dliy lle (e D ale Gall ) (v
) o ) sdlaially 4@ Gl La cpe vy
lg ses¥l DA o i) 418 o 5o Y cOUaall b 4 il 553 ()
loseall iiala la &3 8 5 Ll Ulpesd (53000 Alis s 31 ) aa (v
1Esalad ¥ Las & saSnd 5 ) gmgis O U (g a5 ) gmans () O Gsmand Je (v
losall 6 2391 Y OB Cona Ahalil) Ao ganall & ) S eland Culaia (F



e ol

gl 9 AB8A0 Gld alall ¢ 1A
| LA (e ST Cala LAY 3 Y1 352 ()
1w il adde &85 5 Sl s e 328 &3y
Il 5 ol (o dnlag el (e 02 53 56 IS (v
e laia¥) Jiludl J5a 2508 5 L, S0 4T 3l 58 2%aa (¢
sall Ganld) Ly (FY - ¥4) Al oo qual &8 4By ) Gall) 8 m
OF agdany iy B rJUAl G B Gall G GBMA 5 JSLER Glal) Gany Edad 4] a cladiaadl K by
G el Gany ) Lo ol Alleal) A g a1 Al st e §135 g Gy ol sl Jle el 5l Gy
SIS G B Sda¥) 5 Bae Gelan b A58 4 ,d) claaiaall BLE quldl 13y 5 aaiaall B Adle Gl
coalusall S8 BT Gt 3l g Gopasanal) Al Liald (it g 5 Lalsal o 130 ¢Gya¥) g Jonll dd ity o301 aiaad)
o5 A gLl Ll JE8) 5 gy ASadl o dd) sLaall) ) Aad) yal) agly &dad ) cila gladd) 5 Jstaad) ad )
o g i e Uy
e ) il B rpadal) g v
1ol Gy S0 IS Blal &t (v 16130 Y1 T (Jstan B3 Y (9

o ClBUERY) 5 el ) L o Laila 33 g 5 4dbiad) JSLaA) (v
iaall (i _f.

latis ola¥) paad Adle (o)l AL 2 2140 G €153 (3

e ol Clde (bl O e cn (v

55 lainall 3ISEL ) Gl ) s 181 (v

1o, G el Gl e il S & g 23Uy

€ & A sl (2% ol bay 1§ AL guadall ¢ —fy
lailas) (& i (¥ 102l 48 555 (3
il JeSind (F leie sladll g JSLER) Sie b (v
Bass elaa b (545 4 pdd) cladaal) LA 13 _fY
o 835al) 5 B0l SR ol (v RS Gl 0 Gistiing ) Gmms Y (0
Nty celadll 5 JStaall fe glan Elaaiaddl i (¢ 15ad) Gkl il b gl sl ) shadSS il f (v

sl clalsll 08 all Jdadll 5 ol oY) aall b maaiall Gl _fY
lad ALl 5 (JSLay Aels / (aaly 1o)ran. pslra- g lias Jab RURECIT

«laliiy Jail Jsaia [ Jeli an) - B_SG - Chige 3 jie - anl :5»5}&"- ¥
Gles ALk 4l s i 5 (ad / Al JladY) (o iy s - g Jlme 1385 (¥

«Jaay Jadl Jsria [ 5,501 («a8ay 10d jia) 5 ped tLlSal



=

= ok

1(8+-FF) Adul ALY ce Gl sall il cpc B
radll Aa¥) ci g adl ca gl ity s s FF

11 5 1 5ila 1308 2l Gl (3

a5l GBI 02 oy il 8 (el (v

leplmiall (e oSae ) 15l Cuall L) J6

Lo 5 aams (Y e il Sl Sl e (F
1S aal ) (e

lasma Cll (g D olafll Ly ity dus e (3

Ioas 0 (pdll POla ad s Jon Jards u_aLd}A b (v

1) sede daala 8 ol 43 30tV A3l ol jualaa o3 (v

llgia 5 yind 5 Lt 2t o Lide (1 agdl uial 50 S5 (¥
1 sgaa Jab L A Al e s

T AU 5 el ) 4l i & 45l cae i L ()

Ll dBiall limall 5 50 Candl O Sl 5 (v

1Al sy alaial K5 elalall Leaii€) ) dagadll YL (v

10 Y1 e g A B Saliaal cuilas e 435 Jiluy Al Ja (F
fha ) A ddla) i al Jab g1_py

53] 5l 83 w3180 G AY) G 15 Sk o Ligliaal (y

ladladl 138 3 3asY) e Canall (13 Y € (v

) bl V) a5 58 o) adall S5 8 (v

lobsy) Bl e aaid ol G dadals dd0f SUa (5
8 3 Ciuai Alea (i —FA

5 yad) A&l )50 anl g IS0 Tiea Gaals (3

Al V) A el 5 Tagas Lol e Coan s (v

lanh (ol dda s ) a3 ¥ 4y 5ol Aailall (e Sy 3l (v

1oaie) Gl sf Lde 55 Gl S Gl Gl of U 351 Calla (¢
‘ ’ gl £ 585 A (il L 00 £

LA yilal d3ge 8388 Al B 1588 (saliall ()

il 3 658 Ll oyl Jle il sadl (v

el 5l 8 S8 L) glalal) Calti) ) o 31 b oy

Ibalall o ARLEN o 5 A Lillee | bl Conas (¥
Soabalidy) g sl g8 Adyyd & 1 Aop.

o &1 5o ) e 235 G iy KK 52 (v GO A8 20 Y1 A 255 0 Ok

Y%)(\
42 o V) Gl aelle Sl Gl golie ) (F §ols Wy V) adde (o o0 (oshand Y 5p (v



Vo dmio ol B ylan 9 K 3

BB 1V sty i3 ] IS 18l 108 gfans I | 395 8329 sladibu LilgTe s (163s slaclal olalbgls

(ool Gylon g Sinyp ) - o
sbodys an Jsi sl olS &y laglusl Cges (Jg)8 Jole oSl (slaojgal 5 (1,5 dsyail Gillae-0)

hait Olaj K

T S oo Ll 1) 095 385 43S ¢ ol plaS’ 387895
=y . (e . N
&) Dyl sa3l Glazg g Jie 5l g5m 51y sl = )5 G2 e ek ()
7

2yl3saik Ol 9 Jae 5l sg5m 51 pladl - S ksl i (Y
Ll Awgwg um)}lu o‘) 9 \.)n.\skf Sge0 oS M*;w)ﬂ u...xu (\N
| dwgwg u.;.)}u o|) 9 ..\..SLSA Sge0 oL m—;ub.x!a U“'m (f
s ddlas cle g w5Hlo (Fui5 0,50 40 1) olFaus plas a5 sl SWgn g 1550 LS (sl S po o indi> b plas oFays 51-0Y
Sy il Lags a3 51 Voo
wlaresje  Soi;—«Cud 5 3ed U1 LI sLadl o Lo » ()
S g Sl e s s <Ll 5 5] Ul LA BL3d1 0da Lo 9 (Y
wlaieije (S5 €l 5 gl LA LS Ul o Lo (7
iy S ol a4 s €Lt g Sges LA WLE U1 o Lo (F
00,5 oo yoliie (0D s g0 plaS Kawasedl & 50l g dbil 5 dlil I ol 5801 ol oll L3t b &8 12 &T o pas 51-0Y
S oo Sty Ghygas g ol e o | s 09 plas b Ll dlez 5l le logzge dan ()
Dgd oo il Al o 4y pasie Jle diglas 4 Ll dlez i Dlogz g0 dan LS (Y
A Aglas dieils 0> Siwd 9 392 50 Hludl ohag A (ST plle Dlogge (F
w‘»mdl.‘a.ajdbyjjnﬁ ‘LQMSLQW)Q M;J.:g‘»d.:uéf obﬁwlP&J:\M(f
Sl 1 Ghydy domedl 5 Coagry )0 S99 iy ey 18 S ile plas-0F
o ¥ g i iy (y550hay W ~€e o S 3l bl 3 ()
Coriiane bl o 130 ogaeld —« i IS 3> abl 3 (¥
Copitnns bl o 108 sg0clo® —«i;) ol dl 2l B (7
Y 3 U e 5Ly W0~y Ll )l o (5
9,18 ol yor 43 5,8 (gl S o |y as dely g L8, plaS &ew] g 88,9, 90, 9 B s Wglasy 1S A8 ol ]-00
Oblebus 5 lam liadio b 0,0 Slwgd (s> sl S bl (A
las oBas 8,50 50 &l Glody cule,y - g g Sy S ol (¥
Oblabae g la (liadis b (8,55 (gs o5 (S5 Sy sl (¥
las Ban 0,50 50 4l o cule ) - sz g cmrlezr S bl (F
85,00 0Ll oM g (sloely 51 SuplaS 4y Lo s €aiglas 5l cdad 2als» 5 € ad Sk e o)ly Slol ap -0F
SRNE> >y Cusd —GpNE> ) Casi (1 SRNGE> &gy Casli —wighas 5l 51, O

dghas L5l g 5l —e i3 demgy oot (F Ngl b 5l g 51, —aiglas bl g 51, (F



N Ao oodll O ylao g Kk 3

Sog aalys Lo 565 4l plaS epaidly (ool (Lab 5 505 &yl 50 (T 3ylidlss (guiasgld 5l Gl ke &) o 50 51-0Y
Cdll 5,03 of Lo i ad! U (Y Copall plllay o bl ol 5 0o Cslid Loy SIS ()
«:5;’) et e sV3a 5 Y3a Sl U8 (F Coalas (o2 o 5 amtils il oo (¥
23 Olgien €ove 33l jgy0a 1) ol las (Lhgron g wiS L8]y (oS dus gl Glucl Ly a2 () (o plel (Glgs olo 0l 51-0A
9,5 ool ady & & plaS” ngd
Cogaz i Ll 5 L ol g 2l (oSTobs 5 Dgoll AlS s JS ()
yglame S5, slhae 5 Lo g ST, sllae (o Y5 o =Yg 8 UsH (Y
oo 5 szl e Sy e Ll Tt g Tszal ol Jal o) of o (Y
Cora 595 0 ool (ol 5 galonn ¥ (yn o i LLL 1387 301 o (F
Saindyee e ) b pley SLuS 4z 5 il Cowd 5 Sl Gl 4 Wils oo Sloj a4z GLusl-08
510593 2 (§ 5y Edyma a8 GLS =0y |y 0 Saled )L g Jie 398 5l aS Sbej ()
el S Jals pladie oS SLaS -0y ) o e Cales )L g Jae 895 5l a5 Sles (V
)18)55 2 5 Sdyme 3l a5 (Sl —amay 18 ee LS 0 1) (> g Jae a5 S (T
Lol S5 lidie oS LS —smay 18 @ LS o) (g 5 Jie o5 S (F
Sl ol 1,5 @ lie ol o bl oo 43 olus 5 K, cle dy LS Jol B3Ls1-5 -
Covw ael pladice Giog 51T Lo g (Y Cevn (Prmms 4 399 (63942 45 el u (A
G 0SS S T e gl b aly cpor (F Covr ol POl Wiglas 335 o Laad (¥
5 Ol el Lz plas” LU landlly Goldl poid el 9 QLSI o W31 5 litdly Lk, Lo 02> iy &7 oLy =51
ol uate QS 0l (s 9
ansls Mol 4 (i3 ls  —adals lye0 Wl 51 6 p il st ()
Eie Dlegdge 8)l)0 (1S (P = (2 a5 93 ee )0 (9,0 plamed! (F
anel> ol 4 (B35 — (2 )85 U5 e )0 (S0 plamed (F
Eaite Slegoge 5)l)0 (S (B —Calal> (90 Wyl 6)"“[4;“1-’ (¥
Sy S o plodl Aa3¥ a5 () el prsly i 51 g CaogS il o (slozzl SIS 90 ol 50 (ilabns eSS -FY
Sl o0 Cyaens 43T plaS jo ol iyl Gliptils 4y Cos cls 4
«saS1y o 5 8531 (355 5 Al ey (0l Isial 01 g g 5 bl (ST Leib ()
€ o5 oY1 ol g Jgm ! Igmabol g alll Tgmdol Tgial o 301 Lol L (Y
Gl ol b Jais o ol 5 S5, oo S 3l Lo s Jam )l L3I L2 (Y
gl o8 jidas g codl Jal e Jl oS cadd abl oy L (F
(sl 5 g |y €0908 51 5 5 ST o b 350 b S piblnn ABIS Cang® 5 € (sl Susf Pl plaer 225D -5V
feuils () p ST Jgmsy 522 ool 5l Syplas
ey e g 588 boj L —poye b Tlae 5 Comme ()
poye Salaa )3 (G9mdd 5 (LB TS —pope L e 5 Cuzme (Y
poye b hlae 5 Cumme —poy0 Colia o (55gmds g (SBgS S (T

Cumogye 5 588 1 o),le —po o Culd jo (655l g (LhgS i (F



VY domio Ol O ylao g i y3

Tl dlgey £589 4 () (Sl plal 5 (&) b plel () Slmas plal (593 ;5 CoF &1 2 9 )lpe 5 Syplas-5F
el (sl pllss i (gl (30,5 iy DgSs = ol 3l (B pme —(lemed S Sl g0z ()
Jeol Pl (yme = larnd Cudgs Sl 20285 = (gwbonw 5 $,58 S by o plyie 4 ansla o i Jled peax (¥
Sl 0 S ey DS = o Jal Glaiedle b bl 8,bs0 55l 5 4 b plapludl = ol el (8 yne (1
el sl plls Lad>
ol 3l (o= gl § 6558 S5 xS plaie @ aneler 0 1 Jlab jedo— les Gk 51 oMl Bjlee oS (F
plol (e Gliite Coytne 5l SuplaS Sl a5 dr opds JLh 5 €5l Culd) 3590 (Slobune Jlo )3 Tz DD ealin-F0
el () pas
29 Sl el 5 955 03,5 oolel (@) pas plol 4y e 5 2 e i ()
(@) rae plel ,0b slp led ~(g2) yas plel slagle® 5l (59 m (¥
(@) rac plel 00l lp led (@) yas plol & Comme g Cd5m0 Zull (F
s5ek sl amel> g 055 05 eolel —(ge) yas plel slagle,d 5l (g ym (F

fad als>
SBen oyl o oS L (Y eloiz] (Swen g Sass ()
Mo ol yo Cooliinl 9 g kb (F sSleizl g owbw L_qmlf'l oialzel (v

Sl 4T plas by s 50 o900 (il 9 99 0 dd 3 Gl O)ge a o-FY
ooz 53l alls 85001 0y 1 5 o> - 51 O & e gl polas (O
CUaaz 5501 alld 53l 0y 2 IS 52 — S35 5 (3950 E0,al Cunly o il 53 Caaglia (Y
Claditay &5 sl3m Sl Ty 301 9 — s EDled &y Carto gesly pglos (¥
Coioy dew el Ll gnnS (Wl 9 = (9 9 (5950 E9pial Senls® 2 ply )3 Cuoglia (F
Sl las celbl g (Sosy prane jo pa8 L3 (gly p3¥ Sloladl 51 S laie 4y «Cdlod 8590 0 Cuas plas-FA
€9 oo B )lS 5 dproual  KidenS o0 5l cge 50,00 (o 50 ST pbl cndS» ()
oy 22ls3 555l 555 0ol 8)lyo las 09,5 (oad 5l K00 5 CB3S 55 a8 05 (539, el Ik P (Y
€t Lol Slus 4y oS00 5l LB asST Sas ) 995 Clas ay (¥
€ gy 0l 55 Lol le il S gl 1 5 el K o S e Ll a5 iiian oS B (F
S GlaS az @ llas €gaz 3 Y Ll oS3 9 &7 jo wiglas ploizul-$4
35,0 oo 00980 |y lagyludl o 81 g 4l o ()l CeS 4 a5 SluS ()
RURINJPRR SO IRVIE ACTEK CORNRCPTNIDNIY CARC ) [NESCHRC I g I 314
Al ales 0ai 0,bss aludl a5 aijel nl 5 5 00g gilows slae ;S a5 SLuS (Y

sl Ojg 0 S o ol Jas 4y ax gl gy 4 LS (F



\¥ dnio ool OB lo 3 K 3

Sl g3 slasl (oalg 4y culd 59, 50 ol 50 (2iSTy B o3 @)le plas -V

€ s JS skl (31 abl Liaasl 19JB8» (Y €S u\; eliaslod (Sde o 9 ()
e p3aged o pooglod 15I6> (F Qodlo Jos! o oy ) Ty SO (F

Salon,S 095 ol el |y s plaS pggite €355 pols 52 g il 4y puaeio ple Jrasts ¢ Dol 5590 ;00 4S50 4z ,S1-V
o) 5 950 oSt iy leol] 1555 Lol oSl e ST 315 T T e 2 ()
o ot oSl o o0 i 3 ol Sl e o0 1 (1
€l Il 5565 L gl U 15 gl il s o o 7
ol ol i lall 5 S (g W3 5 Ll WL Ll T i (F
Sl 28,8 Jlas jo loly dx Aildtunr el gl 4y g wlod gl Hlasl Wglas- &5 457 LS (6l 02,8 o1,8-YY
€2 5 ate dom) (B palsand (¥ Copdll jisy &l o ()
«a V! g sloidl pe OIS 1 e Liseiay (F €S, sllae oyo Y52 5 V3a S (¥
A 5 oS e pydge plS azgin |, Lo ol b b palsle 5 Dol die ) 5 LSl Sy Jome J gb iyt BT-VY
§09d o0 IS Al wilo (5302
CogSo hSis 5o 0o ye &5 )Lie —pdlul (> ilate 5 (Dl 8z e 5 ()
CoogSa JuSLid 50 p0 0 &8 liie = (5,5l g ple o o plliey (gl WD (Y
ke i -6 psld 5 ple yo (ol pliny sl BB (Y
ole i -l (o (ilaie 5 (SMie b2 o (F
60,0 Slypod g VL (goinn JloS g ol a4y oliiwo? 5 «gl i)l cSlid sl o) (SIS el S g slaainl copuased 4 az g -YF
Sz Jslon cu i a4 €095l (loizl
Pl Gaede —olbr gl ()
=S 5 ol 4 oSS S -l (9B (Y
Pl G —aselr (IS sl b (Seales (F
S 5 py7eal 2 ol S —anslr (I slagsy)l b (Saalea (F
05 08l s 5l dm il 039 45 (oS ST 5 s iy g, 00 WalgS 0 &S sl b Glog 4 b 5l se ilew S1-VO
Sy labelg o iy
Ao dalol ) 095 859, b —.0 .5 039, WL ()
S Uadl ) 0g5 839, b =20, 039, <59, QT 40 43193603 4
S Uadl 1) 395 839, b =0 155 039, b (¥

Ao delol 1 055 839, Wb =05 059, <59, ol Ho wilgy o3 (F



\F imino ((s0908) (omadSIL 5

SIS Cilys siga ook )1 1) 395 539 slodlhw silgies ualSing a)lb slool) olibgls | BaSs Po ssleiay Cﬁ‘)]

PART A: Grammar and Vocabulary { raliitile A

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark e Olaj K
the answer on your answer sheet. ( ]

9:00

76- A: Professor Allen, we are planning to invite you to make a speech to our I\/'ﬁ/
students on educational problems next Monday. — —— 4
B: Sorry, I can’t. I ...... take part in an international conference in Madrid at that time.
1) should 2) must 3) have to 4) may
77- Alison Jones and her husband David, who live in London, are celebrating their golden wedding
anniversary, ...... ?
1) do they 2) don’t they 3) are they 4) aren’t they

78- Traveling across Iran, father had bought a lot of handmade products such as pottery and
calligraphic tiles. He asked the clerk to pack them very carefully, because he didn't want them
1) be damaged 2) to damage 3) to get damaged 4) have been damaged
79- 1 invited my new classmate, Sara, to the party, but she apologized for not being able to attend. It
seemed she ...... to do something else.
1) had arranged 2) has arranged 3) was being arranged  4) had been arranged
80- Psychologists believe that children who are brought up in an unhappy home ...... usually reflect
some serious behavioral difficulties.
1) agreement 2) inspiration 3) element 4) environment
81- A good teacher knows how to use the educational technologies to teach the subjects and ...... the

right feedback from his students.

1) signal 2) elicit 3) spoil 4) translate
82- In recent years, we have seen ...... differences in the students’ upbringing and their manners as
well.
1) vast 2) local 3) cheerful 4) sociable

83- Preferring to be alone, and spending a lot of time working with our computers and laptops can

make us depressed and ...... .
1) generous 2) impatient 3) impossible 4) balanced
84- When students become anxious during a test, they may ...... tell themselves they are going to fail,

or that their teacher will become angry with them if they perform poorly.

1) commonly 2) exactly 3) repeatedly 4) perfectly
85- We know that many people have already generously ...... money and time to the victims.
1) spared 2) demanded 3) dedicated 4) surrounded
86- The result of the ...... war is unlikely to be affected by what he, as an individual, does.
1) quite 2) extra 3) plain 4) entire
87- Their most ...... belongings are kept in a safe in the bedroom, so they don’t have to be worried

about them while they are visiting their relatives during Noruz.

1) valuable 2) available 3) avoidable 4) immediate
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PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct
choice on your answer sheet.

All over the world students are learning how to make a difference in the world and how to
save the nature. There are several ways that can help us to ...(88)... planet Earth. One way is
to save water. Water ...(89)... more frequently than we can see. Notice how you use the water.
Don't turn your shower on unless you’re ready to get in and try to have shorter showers. The
other way is saving electricity. We can turn ...(90)... the lights, TV and other things when we
are not using them. We can turn down our cooler or heater when it’s not necessary. This is
especially true for fall and spring. We can open the windows ...(91)... or wear more clothes.

...(92)... old habits will be good for both the environment and your money.

88- 1) prevent 2) invent 3) protect 4) forget

89- 1) waste 2) is wasted 3) is to waste 4) has been wasted
90- 1) in 2) out 3)on 4) off

91- 1) instead 2) finally 3) never 4) again

92- 1) By changing 2) Change 3) Changing 4) Changed

PART C: Reading Comprehension
Directions: Read the following passages and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the
correct choice on your answer sheet.

Passage 1

Hummingbirds are very special for many reasons. For one, they are very small. The smallest
kind of hummingbird weighs less than 2 grams. That’s less than half the weight of a sheet of paper!

Hummingbirds are also special for the way they fly. They are the only birds that can hover.
That means they can stay in one place in the air. Plus, they can fly backwards and even upside
down!

All of that flying is supported by hummingbird’s wings. These birds normally beat their wings
up to 70 times per second. They can beat their wings much faster when they dive quickly.

How does a hummingbird get all the energy it needs to beat its wings and fly? It gets energy
from the food it eats! Hummingbirds get a lot of their food from flowers. They drink nectar
from flowers using their long, thin beaks and tube-like tongues.

When hummingbirds get their food from a flower, they also help the flower. How? By helping
the flower to reproduce! When hummingbirds put their beaks into a tube-like flower, some of the
flower’s pollen can get on them. Then, when they go to drink nectar from another flower, they
move the pollen to that new flower. If the pollen lands in the right place in the flower, the plant
will grow new seeds. So hummingbirds help lots of plants survive and grow. These birds are truly
special!

93- Which of the following sentences is NOT true about hummingbirds?
1) No other birds can hover like the hummingbirds.
2) They can fly backwards and also they can fly upside down.

3) They are less than half the weight of a sheet of paper.
4) They are one of the birds that can stand still while flying.
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94- According to the 4™ paragraph, what can we conclude about hummingbirds?

1) They don't need a lot of energy. 2) They are lazy birds.

3) They need a lot of energy. 4) They have to stay in one place.
95- How do hummingbirds help lots of plants survive and grow?

1) Hummingbirds drink nectar from flowers using their long, thin beaks and tube-like tongues.

2) Hummingbirds fly to different flowers to get the food they need so they have a lot of energy.

3) Hummingbirds move pollen from one flower to another which helps the plants make new seeds.

4) Hummingbirds do not pollute their surroundings because they drink all the nectar and don’t waste it.
96- Which of the following words is defined in the passage?

1) hover 2) tube 3) pollen 4) seed

Passage 2

Solar power is simply the use of sunlight to create electricity. The Earth and our solar system
get most of their energy from the Sun. The Sun, as the source of solar and most other forms of
renewable energy, will continue to shine for some billions of years. The Sun shines on plants,
giving them the energy they need to grow and thrive. Animals then eat plants, which gives them
energy, too.

Many of the Earth resources are used for energy. Wind, sun, water and fire are all sources
of energy. In the United States, the most used sources of energy are fossil fuels such as coal and
oil. Although oil gives us the gasoline that runs our cars, the huge consumption of fossil fuels
has caused visible damage to the environment in various forms like air pollution.

Many scientists are working to develop new ways of providing energy without damaging the
Earth. Through advances in the research of alternative energy sources, the world is slowly
changing from using fossil fuels to using wind power, water power, and solar energy.
Windmills are used to capture wind power. Dams help to get the energy from water. Solar
panels collect energy from the Sun’s rays and keep it stored for future use. These are some
kinds of renewable energy that we call “clean” because they produce few if any types of
pollution.

97- What does the passage mainly discuss?
1) Where the energy comes from and how it is used.
2) How wind energy is different from fossil fuels.
3) How plants use the the energy from the Sun.
4) How animals use energy from plants.
98- The passage describes the problem of fossil fuels causing pollution. What is a solution in the

passage to this problem?

1) Using gasoline in cars 2) Using alternative energy sources
3) Making oil illegal 4) Boosting bicycle programs
99- The underlined word “thrive” is closest in meaning to ...... .
1) replace 2) convert 3) consider 4) regenerate

100- Why does the author use “clean” in the passage?
1) To indicate that how people can generate renewable energy
2) To tell the reader how fossil fuels are as important as renewable energy
3) To show the preferences of renewable energy over fossil fuels
4) To discuss the role of people in producing harmful pollutants



